School	Feb. 1, 2013 MFP Funded	Low Income Funding			
System	(per SIS)	Low Income Students (per SIS 02-01-13)	Per Pupil Amount	Level 1 State Share Low Income Dollars	% of Low Income Students
New Beginnings, UNO (P.A Capdau)	398	383	\$461.27	\$176,666	96.23%
New Beginnings, UNO (F.A Capuau)	456	443	\$461.27	\$204,342	97.15%
New Beginnings, 6Neo (Medatid Neisch) New Beginnings Schools Foundation (Thurgood Marshall Early College HS		554	\$461.27	\$255,543	84.19%
New Beginnings, UNO (Gentilly Terrace Charter School)	412	391	\$461.27	\$180,356	94.90%
Educators for Quality Alternatives (The NET Charter School)	156	125	\$461.27	\$57,659	80.13%
Crescent Leadership Academy (Crescent Leadership Acad./Schwartz)	163	140	\$461.27	\$64,578	85.89%
Future is Now (John McDonogh Senior H.S.)	377	376	\$461.27	\$173,437	99.73%
Crescent City Schools, Inc. (Crescent City School)(Tubman)	530	514	\$461.27	\$237,092	96.98%
Crescent City Schools, Inc. (Crescent City School)(Paul Habans)**	460	437	\$461.27	\$201,547	94.99%
Comm. Leaders Adv. Student Suc. (Fannie C. Williams)	523	523	\$461.27	\$241,244	100.00%
Lagniappe Academies, Inc. (Lagniappe Academies)	121	113	\$461.27	\$52,123	93.39%
Spirit of Excellence Academy (Spirit of Exc. Academy)(Harney)	393	393	\$461.27	\$181,279	
Morris Jeff. Community Sch, Inc. (Morris Jeff. Community School)	262	154	\$461.27	\$71,035	58.78%
ReNew Schools (Live Oak Elementary)	651	602	\$461.27	\$277,684	92.47%
ReNew Schools (Laurel Elementary)	655	630	\$461.27	\$290,599	96.18%
ReNew Schools (K-8 Charter School/Sarah Reed)	639	613	\$461.27	\$282,758	
ReNew Schools (ReNew Accel. H.S., City Park)	188	164	\$461.27	\$75,648	87.23%
ReNew Schools (ReNew Accel. H.S., West Bank)	180	155	\$461.27	\$71,497	86.11%
ReNew Schools (Shaumberg)**	818	777	\$461.27	\$358,403	94.99%
Arise Academy (FY2009/10 Transformation School)	399	394	\$461.27	\$181,740	98.75%
Arise Academy (Mildred Osborne Charter)**	398	378	\$461.27	\$174,382	94.99%
Success Preparatory Academy (FY2009/10 Transformation School)	402	393	\$461.27	\$181,279	97.76%
Crescent City Schools, Inc. (Akili Academy)	381	363	\$461.27	\$167,441	95.28%
Collegiate Academies (NO Charter Science)(Sci Academy)	401	366	\$461.27	\$168,824	91.27%
Collegiate Academies (Collegiate Academy 2)	105	99	\$461.27	\$45,666	94.29%
Collegiate Academies (Collegiate Academy 3)	100	97	\$461.27	\$44,743	97.00%
Miller-McCoy Academy (Miller-McCoy Academy)	400	339	\$461.27	\$156,370	84.75%
N.O. College Prep Academies (N. O. College Prep /S. Williams)	352	345	\$461.27	\$159,138	98.01%
N.O. College Prep Academies (Cohen College Prep)	493	485	\$461.27	\$223,715	98.38%
N.O. College Prep Academies (Crocker Prep)**	376	357	\$461.27	\$164,743	94.99%
Broadmoor Charter (Andrew H. Wilson/Mc #7)	608	494	\$461.27	\$227,867	81.25%
Dryades (James M. Singleton Charter Middle)	596	590	\$461.27	\$272,149	98.99%
Friends of King (Martin Luther King Elem.)	694	653	\$461.27	\$301,209	94.09%
Friends of King (Joseph A. Craig)	347	340	\$461.27	\$156,831	97.98%
New Orleans Charter School Fdtn. (Mc #28 City Park)	425	402	\$461.27	\$185,430	94.59%
Choice Foundation (Lafayette Academy)	886	793	\$461.27	\$365,786	89.50%
Choice Foundation (Esperanza/Crossman)	466	446	\$461.27	\$205,726	95.71%
Choice Foundation (McDonogh #42)	444	411	\$461.27	\$189,581	92.57%
Algiers Charter School Assoc. (Martin Behrman)	673	510	\$461.27	\$235,247	75.78%
Algiers Charter School Assoc. (Dwight D. Eisenhower)	606	532	\$461.27	\$245,395	87.79%
Algiers Charter School Assoc. (William J. Fischer)	634	551	\$461.27	\$254,159	86.91%
Algiers Charter School Assoc. (McDonogh #32)	475	419	\$461.27	\$193,272	88.21%
Algiers Charter School Assoc. (O. P. Walker Sr. High)	879	648	\$461.27	\$298,902	73.72%
Algiers Charter School Assoc. (ACSA Tech High at Rosenwald)	261	209	\$461.27	\$96,405	80.08%
Institute of Academic Excellence, SUNO (Sophie B. Wright)	483	464	\$461.27	\$214,029	96.07%
KIPP New Orleans (Edward Phillips/Kipp Believe)	603	570	\$461.27	\$262,923	94.53%
KIPP New Orleans (McDonogh #15)	763	728	\$461.27	\$335,804	95.41%
KIPP New Orleans (KIPP Central City Academy)	405	394	\$461.27	\$181,740	97.28%
KIPP New Orleans, Inc. (Kipp Central City Primary)	513	499	\$461.27	\$230,173	97.27%
KIPP New Orleans, Inc. (Kipp Renaissance High School)	343	318	\$461.27	\$146,683	92.71%
KIPP New Orleans, Inc. (Kipp N. O. Leadership Academy)	514	502	\$461.27	\$231,557	97.67%
FirstLine Schools, Inc. (Samuel J. Green)	508	478 467	\$461.27 \$461.27	\$220,487 \$215,412	94.09%
FirstLine Schools, Inc. (N. O. Charter Middle at Ashe)	485	467	\$461.27 \$461.27	\$215,413 \$160,747	96.29%
Firstline Schools, Inc. (Firstline H.S. Charter)(Clark)	394 472	368	\$461.27 \$461.27	\$169,747	93.40%
Firstline Schools, Inc. (Dibert School)	472	444	\$461.27	\$204,803	94.07%
Firstline Schools, Inc. (Langston Hughes Academy)	645	629	\$461.27	\$290,138	97.52%
Better Choice Foundation (Mary Dora Coghill Accelerated)**	626	595 24 557	\$461.27	\$274,279 \$11,337,366	94.99%
Total Type 5 Charters in RSD Orleans Kenilworth Science & Technology (Pelican Educational Foundation)	26,595 497	24,557	\$410.52	\$11,327,266 \$194,175	Q5 170/
Linwood Public Charter (Shreveport Charter School, Inc.)	508	473 392	\$410.52 \$571.24	\$194,175 \$223,927	95.17% 77.17%
Online or actor (or reversely or actor of 1001, 110.)	500	JJZ	ψυ: 1.24	ΨΖΖΟ,3ΖΙ	/ 0

School	Feb. 1, 2013 MFP Funded Membership	Low Income Funding			
System	(per SIS)	Students (per SIS 02-01-13)	Per Pupil Amount	Level 1 State Share Low Income Dollars	% of Low Income Students
	1	2	3	4	5
RSD Operated	2,381	2,262	\$461.27	\$1,043,257	94.99%
RSD LA Operated (Linear Middle)	147	145	\$571.24	\$82,830	98.64%
RSD LA Operated (St. Helena Central Middle)	316	302	\$681.53	\$205,822	95.57%
RSD LA Crestworth Learning Academy	165	162	\$410.52	\$66,504	98.18%
RSD LA Glen Oaks Middle	202	199	\$410.52	\$81,693	98.51%
RSD LA Prescott Middle	209	201	\$410.52	\$82,514	
RSD LA Dalton Elementary	266	263	\$410.52	\$107,966	98.87%
RSD LA Lanier Elementary	338	330	\$410.52	\$135,471	97.63%
RSD LA Istrouma High School	332	320	\$410.52	\$131,366	96.39%
RSD LA Capitol High School	239	207	\$410.52	\$84,977	86.61%
RSD LA Pointe Coupee Central High	231	211	\$435.02	\$91,790	91.34%
Total RSD Operated LSU Lab School	4,826	4,602	\$545.87	\$2,114,192	4.000/
	1,376			\$14,192	1.89%
Southern Lab School	391	259	\$545.87	\$141,379 \$19,651	66.24%
New Orleans Center for Creative Arts (NOCCA) Louisiana School for Math, Science & the Arts (LSMSA)	114 275	36	\$545.87	, ,	31.58%
Total Other	2,156	16 337	\$545.87	\$8,734 \$183,957	5.82%
New Vision	319	275	\$548.80	\$150,920	86.21%
Glencoe Charter	361	261	\$526.95	\$137,535	72.30%
International School of Louisiana	735	417	\$461.27	\$197,333 \$192,349	56.73%
Avoyelles Public Charter	694	372	\$696.82	\$259,215	53.60%
Delhi Charter	675	372			
Belle Chasse Academy	951	468	\$620.10 \$211.93	\$234,399 \$99,182	56.00% 49.21%
Milestone/SABIS	458	443	\$461.27	\$204,342	96.72%
The MAX Charter	113	36	\$536.12		
D'Arbonne Woods	548	265	\$611.06	\$19,300 \$161,932	31.86% 48.36%
Madison Prep	213	177	\$410.52	\$72,662	83.10%
International High	443	342	\$461.27	\$157,754	77.20%
Lake Charles Academy (Calcasieu)	755	599	\$536.01	\$321,069	79.34%
N.O. Military/Maritime Academy (Orleans)	224	140	\$461.27	\$64,578	62.50%
Lycee Francois de la Nouvelle Orleans (Orleans)	202	82	\$461.27	\$37,824	40.59%
Louisiana Connections Academy (EBR)	1,200	645	\$410.52	\$264,784	
					53.75%
Louisiana Virtual Academy (Orleans)	1,130	744	\$461.27 \$640.05	\$343,184	65.84%
J.S. Clark Academy (St. Landry)	168	152		\$97,288	90.48%
Southwest LA Charter (Calcasieu)	531	430	\$536.01	\$230,483	80.98%
LA Key Academy (EBR)*	138	117	\$410.52	\$47,944 \$21,744	84.63%
Jefferson Chamber (Jefferson)*	100	79	\$404.23	\$31,744	78.53%
Tallulah Charter (Madison)*	232	212	\$626.38	\$132,507	91.18%
Northshore Charter (City of Bogalusa)*	230	215	\$635.47	\$136,776	93.58%
Baton Rouge Charter (EBR)*	614	520	\$410.52	\$213,318	84.63%
Delta Charter (Concordia)*	330	253	\$664.50	\$168,258	76.73%
Total Type 2 Charters	11,364	7,621		\$3,779,348	

^{*}New Type 2 Charters used the average of the district in which they are located for Low Income, CTE, SWD and GT counts **New Type 5 Charters used the average of RSD Operated for Low Income, CTE, SWD and GT counts

School	Feb. 1, 2013 MFP Funded Membership	Career	& Tec	hnical Fun	ding
System	(per SIS)	Career & Tech Units	Per Unit Amount	Level 1 State Share CTE Dollars	% of CTE Units
	1	2	3	4	5
New Beginnings, UNO (P.A Capdau)	398		\$125.81	\$0	0.00%
New Beginnings, UNO (Medard Nelson) New Beginnings Schools Foundation (Thurgood Marshall Early College HS	456 658	424	\$125.81 \$125.81	\$0 \$53,344	0.00% 64.44%
New Beginnings Schools Foundation (Thurgood Marshall Larry College Fig.	412	424	\$125.81	\$05,544	0.00%
Educators for Quality Alternatives (The NET Charter School)	156	69	\$125.81	\$8,681	44.23%
Crescent Leadership Academy (Crescent Leadership Acad./Schwartz)	163		\$125.81	\$0	0.00%
Future is Now (John McDonogh Senior H.S.)	377	60	\$125.81	\$7,549	15.92%
Crescent City Schools, Inc. (Crescent City School)(Tubman)	530		\$125.81	\$0	0.00%
Crescent City Schools, Inc. (Crescent City School)(Paul Habans)**	460		\$125.81	\$0	0.00%
Comm. Leaders Adv. Student Suc. (Fannie C. Williams)	523		\$125.81	\$0	0.00%
Lagniappe Academies, Inc. (Lagniappe Academies)	121		\$125.81	\$0	0.00%
Spirit of Excellence Academy (Spirit of Exc. Academy)(Harney)	393		\$125.81	\$0	0.00%
Morris Jeff. Community Sch, Inc. (Morris Jeff. Community School)	262		\$125.81	\$0	0.00%
ReNew Schools (Live Oak Elementary)	651		\$125.81	\$0	0.00%
ReNew Schools (Laurel Elementary)	655		\$125.81	\$0	0.00%
ReNew Schools (K-8 Charter School/Sarah Reed)	639	4.40	\$125.81	\$0	0.00%
ReNew Schools (ReNew Accel. H.S., City Park)	188	142	\$125.81	\$17,802	75.27%
ReNew Schools (ReNew Accel. H.S., West Bank) ReNew Schools (Shaumberg)**	180 818		\$125.81 \$125.81	\$0 \$0	0.00% 0.00%
Arise Academy (FY2009/10 Transformation School)	399		\$125.81	\$0	0.00%
Arise Academy (Mildred Osborne Charter)**	398		\$125.81	\$0	0.00%
Success Preparatory Academy (FY2009/10 Transformation School)	402		\$125.81	\$0	0.00%
Crescent City Schools, Inc. (Akili Academy)	381		\$125.81	\$0	0.00%
Collegiate Academies (NO Charter Science)(Sci Academy)	401	89	\$125.81	\$11,197	22.19%
Collegiate Academies (Collegiate Academy 2)	105		\$125.81	\$0	0.00%
Collegiate Academies (Collegiate Academy 3)	100		\$125.81	\$0	0.00%
Miller-McCoy Academy (Miller-McCoy Academy)	400	108	\$125.81	\$13,588	27.00%
N.O. College Prep Academies (N. O. College Prep /S. Williams)	352		\$125.81	\$0	0.00%
N.O. College Prep Academies (Cohen College Prep)	493	165	\$125.81	\$20,696	33.37%
N.O. College Prep Academies (Crocker Prep)**	376		\$125.81	\$0	0.00%
Broadmoor Charter (Andrew H. Wilson/Mc #7)	608	55	\$125.81	\$6,920	
Dryades (James M. Singleton Charter Middle)	596		\$125.81	\$0	0.00%
Friends of King (Martin Luther King Elem.)	694	28	\$125.81	\$3,523	4.03%
Friends of King (Joseph A. Craig)	347 425		\$125.81	\$0 \$0	0.00% 0.00%
New Orleans Charter School Fdtn. (Mc #28 City Park) Choice Foundation (Lafayette Academy)	886		\$125.81 \$125.81	\$0	0.00%
Choice Foundation (Esperanza/Crossman)	466		\$125.81	\$0	0.00%
Choice Foundation (McDonogh #42)	444		\$125.81	\$0	0.00%
Algiers Charter School Assoc. (Martin Behrman)	673		\$125.81	\$0	0.00%
Algiers Charter School Assoc. (Dwight D. Eisenhower)	606		\$125.81	\$0	0.00%
Algiers Charter School Assoc. (William J. Fischer)	634		\$125.81	\$0	0.00%
Algiers Charter School Assoc. (McDonogh #32)	475		\$125.81	\$0	0.00%
Algiers Charter School Assoc. (O. P. Walker Sr. High)	879	387	\$125.81	\$48,689	44.03%
Algiers Charter School Assoc. (ACSA Tech High at Rosenwald)	261	101	\$125.81	\$12,707	38.70%
Instititute of Academic Excellence, SUNO (Sophie B. Wright)	483	50	\$125.81	\$6,228	10.25%
KIPP New Orleans (Edward Phillips/Kipp Believe)	603		\$125.81	\$0	0.00%
KIPP New Orleans (McDonogh #15)	763		\$125.81	\$0	0.00%
KIPP New Orleans (KIPP Central City Academy)	405		\$125.81	\$0	0.00%
KIPP New Orleans, Inc. (Kipp Central City Primary) KIPP New Orleans, Inc. (Kipp Renaissance High School)	513 343		\$125.81 \$125.81	\$0 \$0	0.00%
KIPP New Orleans, Inc. (Kipp N.O. Leadership Academy)	514		\$125.81	\$0	0.00%
FirstLine Schools, Inc. (Samuel J. Green)	508		\$125.81	\$0	0.00%
FirstLine Schools, Inc. (N. O. Charter Middle at Ashe)	485		\$125.81	\$0	0.00%
Firstline Schools, Inc. (Firstline H.S. Charter)(Clark)	394		\$125.81	\$0	0.00%
Firstline Schools, Inc. (Dibert School)	472	<u></u>	\$125.81	\$0	0.00%
Firstline Schools, Inc. (Langston Hughes Academy)	645		\$125.81	\$0	0.00%
Better Choice Foundation (Mary Dora Coghill Accelerated)**	626		\$125.81	\$0	0.00%
Total Type 5 Charters in RSD Orleans	26,595	1,677		\$210,922	
Kenilworth Science & Technology (Pelican Educational Foundation)	497	0	\$111.99		0.00%
Linwood Public Charter (Shreveport Charter School, Inc.)	508	0	\$155.80		0.00%
Total Type 5 Charters in RSD LA	1,005	-		\$0	

School	Feb. 1, 2013 MFP Funded Membership	Career & Technical Funding				
System	(per SIS)	Career & Tech Units	Per Unit Amount	Level 1 State Share CTE Dollars	% of CTE Units	
	1	2	3	4	5	
RSD Operated	2,381	403	\$125.81	\$50,655	16.91%	
RSD LA Operated (Linear Middle)	147		\$155.80		0.00%	
RSD LA Operated (St. Helena Central Middle)	316		\$187.96	\$0	0.00%	
RSD LA Crestworth Learning Academy	165	45				
RSD LA Glen Oaks Middle	202		\$111.99	\$0	0.00%	
RSD LA Prescott Middle	209	78	\$111.99			
RSD LA Dalton Elementary	266		\$111.99	\$0	0.00%	
RSD LA Lanier Elementary	338		\$111.99	\$0	0.00%	
RSD LA Istrouma High School	332	161	\$111.99	\$18,030		
RSD LA Capitol High School	239	260	\$111.99	\$29,117		
RSD LA Pointe Coupee Central High	231	78	\$118.03	\$9,206	33.77%	
Total RSD Operated	4,826	1,025	*	\$120,784		
LSU Lab School	1,376		\$152.45	\$0		
Southern Lab School	391	12		\$1,829	3.07%	
New Orleans Center for Creative Arts (NOCCA)	114		\$152.45	\$0	0.00%	
Louisiana School for Math, Science & the Arts (LSMSA)	275	40	\$152.45	\$0	0.00%	
Total Other	2,156	12	*	\$1,829		
New Vision	319		\$150.21	\$0	0.00%	
Glencoe Charter	361		\$143.78	\$0	0.00%	
International School of Louisiana	735		\$125.81	\$0	0.00%	
Avoyelles Public Charter	694	79	\$190.17	\$15,023	11.38%	
Delhi Charter	675	164.5	\$170.82	\$28,100	24.37%	
Belle Chasse Academy	951		\$57.64	\$0	0.00%	
Milestone/SABIS	458		\$125.81	\$0	0.00%	
The MAX Charter	113		\$146.19	\$0	0.00%	
D'Arbonne Woods	548	43	\$165.29	\$7,108	7.85%	
Madison Prep	213	136	\$111.99	\$15,175	63.62%	
International High	443	105	\$125.81	\$13,210	23.70%	
Lake Charles Academy (Calcasieu)	755		\$146.09	\$0	0.00%	
N.O. Military/Maritime Academy (Orleans)	224	10	\$125.81	\$1,258	4.46%	
Lycee Francois de la Nouvelle Orleans (Orleans)	202		\$125.81	\$0	0.00%	
Louisiana Connections Academy (EBR)	1,200	297	\$111.99	\$33,205	24.71%	
Louisiana Virtual Academy (Orleans)	1,130	266	\$125.81	\$33,466	23.54%	
J.S. Clark Academy (St. Landry)	168		\$174.73	\$0	0.00%	
Southwest LA Charter (Calcasieu)	531		\$146.09	\$0	0.00%	
LA Key Academy (EBR)*	138		\$111.99	\$0	0.00%	
Jefferson Chamber (Jefferson)*	100	29	\$110.23	\$3,166	28.72%	
Tallulah Charter (Madison)*	232		\$171.63	\$0	0.00%	
Northshore Charter (City of Bogalusa)*	230	47	\$173.13	\$8,200	20.59%	
Baton Rouge Charter (EBR)*	614	223	\$111.99		36.25%	
Delta Charter (Concordia)*	330		\$181.81	\$0	0.00%	
Total Type 2 Charters	11,364	1398		\$182,834		

School	Feb. 1, 2013 MFP Funded Membership	Students With Disabilities Funding			
System	(per SIS)	Students with Disabilities Students	Per Pupil Amount	Level 1 State Share Students with Disabilities Dollars	% of SWD Students
	1	2	3	4	5
New Beginnings, UNO (P.A Capdau)	398	27	\$3,144.96		6.78%
New Beginnings, UNO (Medard Nelson)	456	43	. ,		9.43%
New Beginnings Schools Foundation (Thurgood Marshall Early College H		45	. ,		6.84%
New Beginnings, UNO (Gentilly Terrace Charter School)	412	31	\$3,144.96		7.52%
Educators for Quality Alternatives (The NET Charter School) Crescent Leadership Academy (Crescent Leadership Acad./Schwartz)	156 163	21 12	\$3,144.96 \$3,144.96		13.46% 7.36%
Future is Now (John McDonogh Senior H.S.)	377	42	. ,		11.14%
Crescent City Schools, Inc. (Crescent City School)(Tubman)	530	60	. ,		11.32%
Crescent City Schools, Inc. (Crescent City School)(Paul Habans)**	460		\$3,144.96		11.54%
Comm. Leaders Adv. Student Suc. (Fannie C. Williams)	523		\$3,144.96		12.05%
Lagniappe Academies, Inc. (Lagniappe Academies)	121	7	\$3,144.96		5.79%
Spirit of Excellence Academy (Spirit of Exc. Academy)(Harney)	393	57	\$3,144.96	\$179,263	14.50%
Morris Jeff. Community Sch, Inc. (Morris Jeff. Community School)	262	35	\$3,144.96	\$110,074	13.36%
ReNew Schools (Live Oak Elementary)	651	115	\$3,144.96	\$361,670	17.67%
ReNew Schools (Laurel Elementary)	655	97	\$3,144.96	\$305,061	14.81%
ReNew Schools (K-8 Charter School/Sarah Reed)	639	71	\$3,144.96	\$223,292	11.11%
ReNew Schools (ReNew Accel. H.S., City Park)	188	18	\$3,144.96	\$56,609	9.57%
ReNew Schools (ReNew Accel. H.S., West Bank)	180	21	\$3,144.96	\$66,044	11.67%
ReNew Schools (Shaumberg)**	818	94	\$3,144.96	\$296,899	11.54%
Arise Academy (FY2009/10 Transformation School)	399	65	\$3,144.96	\$204,422	16.29%
Arise Academy (Mildred Osborne Charter)**	398	46	\$3,144.96	\$144,457	11.54%
Success Preparatory Academy (FY2009/10 Transformation School)	402	47	\$3,144.96	\$147,813	11.69%
Crescent City Schools, Inc. (Akili Academy)	381	52	\$3,144.96	\$163,538	13.65%
Collegiate Academies (NO Charter Science)(Sci Academy)	401	71	\$3,144.96		17.71%
Collegiate Academies (Collegiate Academy 2)	105	16	. ,		15.24%
Collegiate Academies (Collegiate Academy 3)	100	12	. ,		12.00%
Miller-McCoy Academy (Miller-McCoy Academy)	400	64	. ,		16.00%
N.O. College Prep Academies (N. O. College Prep /S. Williams)	352		\$3,144.96		11.93%
N.O. College Prep Academies (Cohen College Prep)	493	68	, -,		13.79%
N.O. College Prep Academies (Crocker Prep)**	376	43		_	11.54%
Broadmoor Charter (Andrew H. Wilson/Mc #7) Dryades (James M. Singleton Charter Middle)	608 596		\$3,144.96 \$3,144.96		12.83% 7.72%
Friends of King (Martin Luther King Elem.)	694		\$3,144.96		8.50%
Friends of King (Martin Edition King Liem.)	347		\$3,144.96		13.83%
New Orleans Charter School Fdtn. (Mc #28 City Park)	425	29			6.82%
Choice Foundation (Lafayette Academy)	886		\$3,144.96		11.74%
Choice Foundation (Esperanza/Crossman)	466		\$3,144.96		11.80%
Choice Foundation (McDonogh #42)	444		\$3,144.96		4.50%
Algiers Charter School Assoc. (Martin Behrman)	673		\$3,144.96		9.66%
Algiers Charter School Assoc. (Dwight D. Eisenhower)	606		\$3,144.96		10.23%
Algiers Charter School Assoc. (William J. Fischer)	634	67			10.57%
Algiers Charter School Assoc. (McDonogh #32)	475	39	\$3,144.96	\$122,653	8.21%
Algiers Charter School Assoc. (O. P. Walker Sr. High)	879	112	\$3,144.96	\$352,235	12.74%
Algiers Charter School Assoc. (ACSA Tech High at Rosenwald)	261	31	\$3,144.96	\$97,494	11.88%
Instititute of Academic Excellence, SUNO (Sophie B. Wright)	483	37	\$3,144.96	\$116,363	7.66%
KIPP New Orleans (Edward Phillips/Kipp Believe)	603	60	\$3,144.96	\$188,697	9.95%
KIPP New Orleans (McDonogh #15)	763	77	\$3,144.96	\$242,162	10.09%
KIPP New Orleans (KIPP Central City Academy)	405	56	\$3,144.96	\$176,118	13.83%
KIPP New Orleans, Inc. (Kipp Central City Primary)	513	47	\$3,144.96		9.16%
KIPP New Orleans, Inc. (Kipp Renaissance High School)	343	47	. ,		13.70%
KIPP New Orleans, Inc. (Kipp N. O. Leadership Academy)	514		\$3,144.96		13.23%
FirstLine Schools, Inc. (Samuel J. Green)	508		\$3,144.96		18.90%
FirstLine Schools, Inc. (N. O. Charter Middle at Ashe)	485		\$3,144.96		21.65%
Firstline Schools, Inc. (Firstline H.S. Charter)(Clark)	394	75			19.04%
Firstline Schools, Inc. (Dibert School)	472	86			18.22%
Firstline Schools, Inc. (Langston Hughes Academy)	645	85			13.18%
Better Choice Foundation (Mary Dora Coghill Accelerated)** Total Type 5 Charters in PSD Orleans	626 26 595	72 3 165	\$3,144.96		11.54%
Total Type 5 Charters in RSD Orleans Kenilworth Science & Technology (Pelican Educational Foundation)	26,595 497	3,165	\$2,798.94	\$9,953,998 \$167,936	12.07%
Linwood Public Charter (Shreveport Charter School, Inc.)	508	41	\$3,894.73	. ,	8.07%
Total Type 5 Charters in RSD LA	1,005	101	ψο,σοτ.10	\$327,621	5.51 /6

School	Feb. 1, 2013 MFP Funded Membership						
System	(per SIS)	Students with Disabilities Students	Per Pupil Amount	Level 1 State Share Students with Disabilities Dollars	% of SWD Students		
	1	2	3	4	5		
RSD Operated	2,381	275	\$3,144.96	\$864,132	11.54%		
RSD LA Operated (Linear Middle)	147	12	\$3,894.73	\$46,737	8.16%		
RSD LA Operated (St. Helena Central Middle)	316	27	\$4,651.92	\$125,602	8.54%		
RSD LA Crestworth Learning Academy	165	21	\$2,798.94	\$58,778	12.73%		
RSD LA Glen Oaks Middle	202	16	\$2,798.94	\$44,783	7.92%		
RSD LA Prescott Middle	209	31	\$2,798.94	\$86,767	14.83%		
RSD LA Dalton Elementary	266	6	\$2,798.94	\$16,794	2.26%		
RSD LA Lanier Elementary	338	24	\$2,798.94	\$67,175	7.10%		
RSD LA Istrouma High School	332	32	\$2,798.94	\$89,566	9.64%		
RSD LA Capitol High School	239	13	· '	\$36,386	5.44%		
RSD LA Pointe Coupee Central High	231	26	\$2,964.62	\$77,080	11.26%		
Total RSD Operated	4,826	483		\$1,513,799			
LSU Lab School	1,376	0	. ,	\$0	0.00%		
Southern Lab School	391	0	' '	\$0	0.00%		
New Orleans Center for Creative Arts (NOCCA)	114	0	' '	\$0	0.00%		
Louisiana School for Math, Science & the Arts (LSMSA)	275	0	\$3,793.60	\$0	0.00%		
Total Other	2,156	-		\$0			
New Vision	319	34		\$127,239	10.66%		
Glencoe Charter	361	28	\$3,592.51	\$100,590	7.76%		
International School of Louisiana	735	56	. ,	\$176,118	7.62%		
Avoyelles Public Charter	694	27	\$4,750.57	\$128,265	3.89%		
Delhi Charter	675	35	\$4,230.23	\$148,058	5.19%		
Belle Chasse Academy	951	65	\$1,445.63	\$93,966	6.83%		
Milestone/SABIS	458	38	\$3,144.96	\$119,508	8.30%		
The MAX Charter	113	23	\$3,655.03	\$84,066	20.35%		
D'Arbonne Woods	548	37	\$4,168.53	\$154,235	6.75%		
Madison Prep	213	15	. ,	\$41,984	7.04%		
International High	443	32	\$3,144.96	\$100,639	7.22%		
Lake Charles Academy (Calcasieu)	755	77	\$3,654.86	\$281,424	10.20%		
N.O. Military/Maritime Academy (Orleans)	224	16	\$3,144.96	\$50,319	7.14%		
Lycee Francois de la Nouvelle Orleans (Orleans)	202		\$3,144.96	\$47,174	7.43%		
Louisiana Connections Academy (EBR)	1,200	86	\$2,798.94	\$240,709	7.17%		
Louisiana Virtual Academy (Orleans)	1,130	114	\$3,144.96	\$358,525	10.09%		
J.S. Clark Academy (St. Landry)	168	6	\$4,363.27	\$26,180	3.57%		
Southwest LA Charter (Calcasieu)	531	73	\$3,654.86	\$266,805	13.75%		
LA Key Academy (EBR)*	138	15	\$2,798.94	\$41,125	10.65%		
Jefferson Chamber (Jefferson)*	100	12	\$2,756.01	\$33,471	12.14%		
Tallulah Charter (Madison)*	232	26	\$4,276.47	\$109,623	11.05%		
Northshore Charter (City of Bogalusa)*	230	57	\$4,331.74	\$246,000	24.69%		
Baton Rouge Charter (EBR)*	614	65	\$2,798.94	\$182,975	10.65%		
Delta Charter (Concordia)*	330	32	\$4,532.61	\$146,813	9.82%		
Total Type 2 Charters	11,364	984		\$3,305,811			

School	Feb. 1, 2013 MFP Funded	Gifte	d and T	alented Fun	ding
System	(per SIS)	Gifted & Talented Students	Per Pupil Amount	Level 1 State Share Gifted & Talented Dollars	% of G/T Student s
	1	2	3	4	5
New Beginnings, UNO (P.A Capdau)	398	2	\$1,257.98	\$2,516	0.50%
New Beginnings, UNO (Medard Nelson)	456	5	\$1,257.98	\$6,290	1.10%
New Beginnings Schools Foundation (Thurgood Marshall Early College HS			\$1,257.98	\$20,128	2.43%
New Beginnings, UNO (Gentilly Terrace Charter School)	412	0	\$1,257.98	\$0	0.00%
Educators for Quality Alternatives (The NET Charter School)	156	5	\$1,257.98	\$6,290	3.21%
Crescent Leadership Academy (Crescent Leadership Acad./Schwartz)	163	0	\$1,257.98	\$0	0.00%
Future is Now (John McDonogh Senior H.S.)	377	4	\$1,257.98	\$5,032	
Crescent City Schools, Inc. (Crescent City School)(Tubman)	530	12	\$1,257.98 \$1,257.09	\$15,096 \$14,551	
Crescent City Schools, Inc. (Crescent City School)(Paul Habans)**	460	12	\$1,257.98	\$14,551	2.51%
Comm. Leaders Adv. Student Suc. (Fannie C. Williams)	523	20	\$1,257.98	\$25,160 \$0	3.82%
Lagniappe Academies, Inc. (Lagniappe Academies)	121 393	0	\$1,257.98	\$22,644	0.00% 4.58%
Spirit of Excellence Academy (Spirit of Exc. Academy)(Harney) Morris Jeff. Community Sch, Inc. (Morris Jeff. Community School)	262		\$1,257.98 \$1,257.98	\$22, 044 \$10,064	
ReNew Schools (Live Oak Elementary)	651	8	\$1,257.98	\$30,192	3.69%
ReNew Schools (Laurel Elementary)	655	11	\$1,257.98	\$13,838	1.68%
ReNew Schools (K-8 Charter School/Sarah Reed)	639	8	\$1,257.98	\$10,064	1.25%
ReNew Schools (ReNew Accel. H.S., City Park)	188	1	\$1,257.98	\$1,258	0.53%
ReNew Schools (ReNew Accel. H.S., Only Fairly)	180	3	\$1,257.98	\$3,774	
ReNew Schools (Shaumberg)**	818	21		\$25,875	2.51%
Arise Academy (FY2009/10 Transformation School)	399	0	\$1,257.98	\$0	0.00%
Arise Academy (Mildred Osborne Charter)**	398	10		\$12,590	2.51%
Success Preparatory Academy (FY2009/10 Transformation School)	402	1	\$1,257.98	\$1,258	0.25%
Crescent City Schools, Inc. (Akili Academy)	381	3	\$1,257.98	\$3,774	0.79%
Collegiate Academies (NO Charter Science)(Sci Academy)	401	8	\$1,257.98	\$10,064	2.00%
Collegiate Academies (Collegiate Academy 2)	105	0		\$0	0.00%
Collegiate Academies (Collegiate Academy 3)	100	4	\$1,257.98	\$5,032	4.00%
Miller-McCoy Academy (Miller-McCoy Academy)	400	11	\$1,257.98	\$13,838	2.75%
N.O. College Prep Academies (N. O. College Prep /S. Williams)	352	4	\$1,257.98	\$5,032	1.14%
N.O. College Prep Academies (Cohen College Prep)	493	7	\$1,257.98	\$8,806	1.42%
N.O. College Prep Academies (Crocker Prep)**	376	9	\$1,257.98	\$11,894	2.51%
Broadmoor Charter (Andrew H. Wilson/Mc #7)	608	16	\$1,257.98	\$20,128	2.63%
Dryades (James M. Singleton Charter Middle)	596	16	\$1,257.98	\$20,128	
Friends of King (Martin Luther King Elem.)	694	17	\$1,257.98	\$21,386	2.45%
Friends of King (Joseph A. Craig)	347	12	\$1,257.98	\$15,096	3.46%
New Orleans Charter School Fdtn. (Mc #28 City Park)	425	10	\$1,257.98	\$12,580	2.35%
Choice Foundation (Lafayette Academy)	886	2	\$1,257.98	\$2,516	0.23%
Choice Foundation (Esperanza/Crossman)	466	12	\$1,257.98	\$15,096	2.58%
Choice Foundation (McDonogh #42)	444	0	\$1,257.98	\$0	0.00%
Algiers Charter School Assoc. (Martin Behrman)	673	46	\$1,257.98	\$57,867	6.84%
Algiers Charter School Assoc. (Dwight D. Eisenhower)	606	42	\$1,257.98	\$52,835	6.93%
Algiers Charter School Assoc. (William J. Fischer)	634	9	\$1,257.98	\$11,322	1.42%
Algiers Charter School Assoc. (McDonogh #32)	475	13	\$1,257.98	\$16,354	2.74%
Algiers Charter School Assoc. (O. P. Walker Sr. High)	879	34	\$1,257.98	\$42,771	3.87%
Algiers Charter School Assoc. (ACSA Tech High at Rosenwald)	261	11	\$1,257.98	\$13,838	4.21%
Instititute of Academic Excellence, SUNO (Sophie B. Wright)	483	23	\$1,257.98	\$28,934	4.76%
KIPP New Orleans (Edward Phillips/Kipp Believe)	603	0	\$1,257.98	\$0	0.00%
KIPP New Orleans (McDonogh #15)	763	20	\$1,257.98	\$25,160	2.62%
KIPP New Orleans (KIPP Central City Academy)	405	0	\$1,257.98	\$0	0.00%
KIPP New Orleans, Inc. (Kipp Central City Primary)	513	0	\$1,257.98	\$0	0.00%
KIPP New Orleans, Inc. (Kipp Renaissance High School)	343	0	\$1,257.98	\$0	0.00%
KIPP New Orleans, Inc. (Kipp N. O. Leadership Academy)	514	0	. ,	\$0	0.00%
FirstLine Schools, Inc. (Samuel J. Green)	508	3	\$1,257.98	\$3,774	0.59%
FirstLine Schools, Inc. (N. O. Charter Middle at Ashe)	485	4	\$1,257.98	\$5,032	0.82%
Firstline Schools, Inc. (Firstline H.S. Charter)(Clark)	394	8	\$1,257.98	\$10,064	2.03%
Firstline Schools, Inc. (Dibert School)	472	14	\$1,257.98	\$17,612	2.97%
Firstline Schools, Inc. (Langston Hughes Academy)	645	3	\$1,257.98	\$3,774	0.47%
Better Choice Foundation (Mary Dora Coghill Accelerated)**	626		\$1,257.98	\$19,802	2.51%
Total Type 5 Charters in RSD Orleans	26,595	557		\$701,122	
Kenilworth Science & Technology (Pelican Educational Foundation)	497	1	\$1,119.58	\$1,120	0.20%
Linwood Public Charter (Shreveport Charter School, Inc.)	508 1 005	4	\$1,557.89	\$0 \$1.130	0.00%
Total Type 5 Charters in RSD LA	1,005	1		\$1,120	

School	Feb. 1, 2013 MFP Funded Membership	Gifted and Talented Funding				
System	(per SIS)	Gifted & Talented Students	Per Pupil Amount	Level 1 State Share Gifted & Talented Dollars	% of G/T Student s	
	1	2	3	4	5	
RSD Operated	2,381	60	\$1,257.98	\$75,181	2.51%	
RSD LA Operated (Linear Middle)	147	0	\$1,557.89	\$0	0.00%	
RSD LA Operated (St. Helena Central Middle)	316	0	\$1,860.77	\$0	0.00%	
RSD LA Crestworth Learning Academy	165	0	\$1,119.58	\$0	0.00%	
RSD LA Glen Oaks Middle	202	0	\$1,119.58	\$0	0.00%	
RSD LA Prescott Middle	209	1	\$1,119.58	\$1,120	0.48%	
RSD LA Dalton Elementary	266	0	\$1,119.58	\$0	0.00%	
RSD LA Lanier Elementary	338	0	\$1,119.58	\$0	0.00%	
RSD LA Istrouma High School	332	0	\$1,119.58	\$0	0.00%	
RSD LA Capitol High School	239	0	\$1,119.58	\$0	0.00%	
RSD LA Pointe Coupee Central High	231	0	\$1,185.85	\$0	0.00%	
Total RSD Operated	4,826	61	*	\$76,301	0.000/	
LSU Lab School	1,376	0	. ,	\$0	0.00%	
Southern Lab School	391	0	\$1,447.94	\$0	0.00%	
New Orleans Center for Creative Arts (NOCCA)	114	0	\$1,447.94	\$0	0.00%	
Louisiana School for Math, Science & the Arts (LSMSA)	275	0	\$1,447.94	\$0 \$0	0.00%	
Total Other	2,156		\$4.400.00		0.000/	
New Vision	319	0	* ,	\$0	0.00%	
Glencoe Charter	361	0	\$1,437.00	\$0	0.00%	
International School of Louisiana	735	0	\$1,257.98	\$0	0.00%	
Avoyelles Public Charter	694	0	\$1,900.23	\$0	0.00%	
Delhi Charter	675	13		\$21,997	1.93%	
Belle Chasse Academy	951	61	\$578.25	\$35,273	6.41%	
Milestone/SABIS	458	2	\$1,257.98	\$2,516	0.44%	
The MAX Charter	113	0	\$1,462.01	\$0	0.00%	
D'Arbonne Woods	548	2	\$1,667.41	\$3,335	0.36%	
Madison Prep	213	0	\$1,119.58	\$0	0.00%	
International High	443		\$1,257.98	\$36,482	6.55%	
Lake Charles Academy (Calcasieu)	755	8	\$1,461.94	\$11,696	1.06%	
N.O. Military/Maritime Academy (Orleans)	224	13	. ,	\$16,354	5.80%	
Lycee Francois de la Nouvelle Orleans (Orleans)	202	8	\$1,257.98	\$10,064	3.96%	
Louisiana Connections Academy (EBR)	1,200	24	\$1,119.58	\$26,870	2.00%	
Louisiana Virtual Academy (Orleans)	1,130	50	\$1,257.98	\$62,899	4.42%	
J.S. Clark Academy (St. Landry)	168	1	\$1,745.31	\$1,745	0.60%	
Southwest LA Charter (Calcasieu)	531	5	\$1,461.94	\$7,310	0.94%	
LA Key Academy (EBR)*	138	6	\$1,119.58	\$7,085	4.59%	
Jefferson Chamber (Jefferson)*	100	8	\$1,102.41	\$8,660	7.86%	
Tallulah Charter (Madison)*	232	1	\$1,710.59	\$2,215	0.56%	
Northshore Charter (City of Bogalusa)*	230	12	\$1,732.69	\$21,254	5.33%	
Baton Rouge Charter (EBR)*	614	28	\$1,119.58	\$31,522	4.59%	
Delta Charter (Concordia)*	330	8	\$1,813.04	\$13,692	2.29%	
Total Type 2 Charters	11,364	279		\$320,968		